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1- . 1- The Halogen which exists as solid at room temperature is: - Jlg Jg e J}{ /5-/,;}[‘1.‘3 Sake=1 -1
iodine ¢7iyT (D) fluorine P (C) bromine <z (B) chlorine c,fuK (A)
2 - Which one of the following is non-electrolyte? e ALt e ol -2
solution of sugar H§./% (B) k solution of acid  /#42f (A)
solution of Ca(OH), /*¢ Ca(0H), (D) solution of NaOH 7+ NaOH (C)
3 - Which one of the following is liquid in solid solution? te £l (b Ve ol -3
sugar in water $Z2(0L (D) opal (}s (C) fog / (B) / Lurter e (A
1 - The number of electrons in valence shell of chiorine is: it 3 AT NN e g -4
8 (D) 7(C) /@(’B) 1(A)
I h - In periods from left to right which one decreases? / fe L}n o{utf u’ruffbf-‘- U.;l- Rk -5
ionization energy /1%t T (B) / atomic radius %2, LB (A)
elecronegativity fgfg:}_ai (D) / electron affinity ﬁulf’af (©
6 - The maximum number of electrons that L-shell can ./ e J‘P L2 o sl e sl Ju:/‘{.ji -6
accomodate is: /’/ - JC '
18 (D) 14 / 8 (B) 6 (A)
7 - Empirical formula of Benzene is: e Uk ﬂ/_ﬁi Korrs -1
CH20 (D) HO (C/)/ C2H2 (B) CH (A)
8 - The elements of group 1 and group 2 are called: - Z_Mu""&l 2.9 ...._,,f;,i 1 7:/ -8
Ji f block (D) Ji d bloclg,»fC) J p block (B) Ji s block (A)
9 - The type of bond in which bond pair is don’a;ed by one <k ﬁ! SO 0 - u’-r;n S -9
bonded atomis called ______bond. ] - JLL,()c[, -
co-ordinate covalent /e $5T (D) metallic 2 (C)  covalent ks (B) ionic 7T (A)
10 - How many times are the liquids denser than gases? Ui S E o B 10
" 10000 times (D) ¥ 1000 times (C) & 100 times (B) ¥ 10 times (A)
I'1 - Number of grams of solute dissolved in 100 grams of ;flf‘sDO L J:l’z Y] uﬁfﬂf{fc_«:ﬂr -11
solution is called. e d a P
% }/V (D) % Vm © Y% ’% (8 % % (A)
12 - Loss of electron from an atom is cailed' ws e e ie ﬁl Lfr -12

reduction o2 (D) molarity 47 (©) solubility (%2 (B) oxidation ¢#32T (A)
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Time: 1:45 Hours (Group: 1) (»,.afﬂg) o 1:45 : o5,
Marks: 48 Subjective Jwir 48: 0

el Lar (2) » Fe o U il s o)
Note: Section | is compulsory. Attempt any Two (2) gestions from Section II.
Section | JIL.;o

2- Write short answers to any FIVE (5) questions: (2x5=10) _égfaglzﬁ?ﬁaﬂf?(& &c_.J/ -2
i - Define nuclear chemistry. -2;—5 ...gif."d/d,-"{/':.":: -1
- i

1 - Write down chemical formula of calcium phosphate and _éf_f;fﬂnﬁ J_.Lf,"b’;frnfﬁ-'}r»f e ok
sodium chloride. ;

i1 - Differentiate between atom and ion, uéug GAUE ST f-’-f - iii

v - What is meant by electronic configuration? fe Ve (}")/-&{.f{;g! -iv
v - Write two defects in Rutherford's Atomic Model. E Sl U8 000 oy
vi- Give the trend of ionization energy in periods. ~Z e, kaEEH L:f?-::bff -vi
vi1 - Define a group and a period. -z ey ‘r;’"f - vii
viit - What is meant by atomic radius of atom? ‘e lrVe Rl nms A - i
'3 - Write short answers to any FIVE (5) questions: (2x5=10) _ﬁégfagm/ﬂéamf(m @';Jf -3
1 - Why do atoms form chemical bonds? fur u:fj:l, Jf.:‘:"y':-' -i
1 - Define covalent bond and give one example. Eedg | o‘fdt‘? Lt éuyﬁJ;L ek L
1i - Metals are good conductor of electricity. Why? Ul - O o S e
v - Define pressure. Also write its ST unit & Lj‘*'..*f'.g SI¥yui -27{...5:'/70//“_{ - iv
v - Why the density of a gas increases on cooling? R, dse U obi 5 Jm'{ lnlls .y
vi - Define dilute solutions and concentration. & Sy ATy Alody o
(i 0
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" vii - Why is naphthalene soluble in carbon tetrachloride sl U Jg s S Ul S S 50K 1 cpb’u:.*wa
and not in water? e L,r:“'
viii - How can you justify that blood is a colloid? e S L up S L g S oot S T - i
4 - Write short answers to any FIVE (5) questions: (2 x 5 = 10) -il{fuLL?/‘fﬁuﬂlr(S) gLan -4
i - Define oxidation in term of electrons. Give an example. -2~ §f Ut 25 o/ ( FaS T Lip £ uf/ﬁf -1 |
ii - How electroplating of tin is carried out on steel? e Jb S Bk 201§ o ¢ J:’ -ii !
. 1 - Name the by-products produced in Nelson's cell. : ur 2:. : iy JL & ufut J-’JL' - 11l
v - Why galvanizing is done? e J‘f Sud Ere i
v - Why reactivity of metals increases down the group? e P U I J#“._:}J.g__ o .;.:f -v
vi - Why copper is used for making electrical wires? fe bl U u;;’/J;K:T. it Ll J‘ -vi
vii - Why the ionization energy of Na is more than K ? fe U i rﬁ*g_’ g L-ﬁ:f't,fi'Jﬁ:ir - vii
viii - Write two chemical properties of metals. e J_Lg_"» A i
Section Il 5 2
5 - (a) Describe the (5) -éul_, :,__Lﬂ“’;»i = St () - 5
discovery and properties of neutron.
(b) Write down four differences between molecule and ~ (4) ..é;f&);{'o e & FTIE JA ()
molecular ion.
6 - (a) Define ionic bond. Explain it with an example. (5) -&= S s Ji& Lt 2ol A 2y kT () -6
(b) What is Boyle's law. Explain it with experimental (4) Ay Y3 7 £ e S udb ¥ iy ()
verification.
7 - (a) How NaOH is manufactured from Brine? Expiain. (5) tb Yk AU (NaOH) BITUE Edy e i (D) -7 |
S ol S
(b) Explain any four types of solutions with examples. (4) S o e ol J(u"f;g JJ)’JJ)’ (o)
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db Loz ern e L Usih éf{..:&.lf Ll s 4 Qb’{}f:‘t -(,L?é{.’_..) DsCB« A=l j)&v vy od
K Bl 2 i S ..:.ur‘Jd'../.E Sk L LS U wb e LI S el SN i S

1- 1- How many numbers of moles are equivalent to 8 grams of CO2? Syt sic £ J» T ;-lfa LCoz2-1 -1

0.24 g (D) 0.21 g (C) 0.18g(B)" 0.15g (A)

2 - The P-subshell consists of how many orbitals? e tw J’ﬁ‘{ )’:,TZJ?_/ -P-2
4(D) 3(0) 2(B) 1(A)

3 - In a period which of the following decreases from left to right? Y Oxe f'j (f;"[’i: = uffl_. SdpLl-3
ionization energy $./1c=7t#T (B) ‘ atomic radius (24, Lt (A)
electronegativity Cgﬁl-:}/*gl o electron affinity Jf";ul}-gl ()}

1- Abond formed between two non-metals is expected _ HstmE yenl Fuyts -4
to be___ bond. Ry

metallic &+ (D) co-ordinate covalent «ti225% (C)  ionic —£¥T(B) , covalent <y (A)

5 - Which of the following is the weakest force db b JI{_ nl A S Sits -5
among the atoms? e Lf;(,_;,}d;,,/
metallic force 7+ (B) o ionic force sk T (A)
intermolecular force s/ ggt;-‘i (D) ' covalent force (9wtsf (C)
G - In long form of periodic table the horizontal lines are called: _._.03 (}l.lr( & J‘il - J:"J?L,@_J'Tpli £ -6
triads il d (D) periods iz (C) // blocks % (B) groups J:f (A)
7 - One atmospheric (1 atm) pressure is equal to / S brss & :ﬁf}, & £401 atm) Spve L1 -7
how many pascals? /_,.--/ ’ .
101325 (D) 1932% ©) 106075 (B) 10523 (A)
8 - Which of the following is a heterogeneous mixture? fe. /;:;f-@:; Ve LS5t -8
milk 2 (D) ink Jes (C) milk of magnesia -"Lz.:%_:'!'..ﬁ (B) sugar solution B XN
9 - If 10 grams of sugar are dissplved_ir{ 100 grams of water, b JJJ}rffmu.‘.' Ji; rn)’-mofi -9
itis called, & - et
‘%1 % (D) /’ '% % (C) Vm % (B) % % (A
10 - In the redox reaction b_et\./\r;een zinc and HCI which one L P S1Es £ HCL st £5 - 10
is oxidizing agent?,”” | S bw U ol £ ST
" Hy (D) Zn (C) ci (B H' (A
11 - Which of the following is a weak electrolyte? %, W29 e A St - 11
H,S04 (D) CH3COOH (C) NaOH (B) NaCl (A)
12 - -Non-metals are generally soft but which one of the following is Ve A ;}-ﬂu_f (7 Kot - 12
extremely hard? e =5 el
sulphur A~ (D)  phosphorus (26 (C) iodine ¢/3¥7 (B) diamond 45 (A)
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Time: 1:45 Hours (Group: 11)
Marks: 48
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& el L =l (2) » Ufc.. L r»..ﬁ’-a:.:.(ﬁﬂ d}l_,.‘p: Y
Note: Section | is compulsory. Attempt any Two (2) gestions from Section Il.
Section | Jil»
2 - Write short answers to any FIVE (5) question.s: (2x5=10)

(t.;d”/ '/J))

2 {/uufffé..,mr(s) beds -2

i - Define nuclear chemistry.

é’:u’}’nfd//xx
%‘:‘_ﬂu/-_,;,w’liér”dul

-1

11 - Human body is made up of how many elements? -3
write their names. ..a“’rt Lyl
i1i - Write down the chemical formulas of the following: ef Uyl Vé‘{diﬁw -1
(a) Sugar  (b) Sulphuric Acid S () S ()
v - Write down any two properties of canal rays. _"16 .:.lfr‘;;n JJ)’J‘J;JJU{ - v
v - Define shell and sub-shell. ‘ Lof ..y/"'Jif.._/»r K -v
vi - Define Newland's Octaves. JzE S TL Sk -
vi1 - What is difference between short period and long period? e VLA Lustpais -vii
vin - Define ionization energy and write its unit. ,.icr..fg g1 ! éwv/"JJ/!Lf/t T -viil

3. Write short answers to any FIVE (5) questions: (2x5=10)

L pFein L 2 (5) G ,.-..df .3

1 - Define metallic bond. -_é.g/&x;h.@«
11 - Write two properties of ionic compounds. L e JJJ‘SL{J;;’T -ii
m - Why boiling point of water is higher than boiling point of alcohol?  s)bJj = LNy By L J"ﬁl 2l iy ¥ GL - iii
"'r._ tae g,).d/
iv - Define amorphous solids also give two examples. &= fﬁi‘/ 9= _,;/v JJ:"‘ui/f -iv
v - Describe the effect of temperature on evaporation. -’r.f-f e S V,é'/,‘{: ) v
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- What is meant by % mass/volume? Se Ve UUpds % -vi
vir- Write two characteristics of colloids. —éffzf;.t:»,»*,, G - vii
vut - Differentiate between dilute solution and concentrated solution. __‘f ol I ‘f}'» /"”»i J}’...JJ"I; - viil
4 - Write short answers to any FIVE (5) questions; (2x5= 10) _éxi...Llf/‘"C...,Ulr(S) éLc:.Jf -4
1 - What is difference between valency and oxidation state? e O ULt e RS Tl J‘E -i
1 - Define oxidation in terms of electrons and give an example. - Je .:f:\.ay/“ SAY T L M
i - What is meant by alloy? Give an example. & Je S sty Ve (Alloy) £ - iii
v - Give any two examples of strong electrolytes. J25 e 5 88 S0 GP) oy 3 iv
v - Write any two chemical properties of non-metals. _égf.:,*_m—’; JLA.{/.-J AU -y
vi - Why reactivity of metals increases down the group? “ ‘.'.;_ 5 u::(é__ < 4l e _;;);‘ C{éff 5] J:‘L" -vi
vir - Wnite any two uses of sodium. -‘.‘-:_"_:xf"..:le-rfF N &f.‘.’. iy -vi
vii - What is meant by electropositivity? S olp Ve (_i.-_»‘ u‘a' - viii
Section Il (» =
5 - (a) Describe any five results of the experiment of (5) £ N N 3L L s () - B
Rutherford's atomic model, S b E-/E'»' @L
(b) Write difference between molecule and molecular ion. (4) “Z G5t FTIE s U (&)
6 - (a) Define co-oridnate covalent bond. Explain it with (5) St et sl .’-.3:,5_.51/70}; okl 233, (L) -6
examples. -:{5.—.:&:
(b) Define vapour pressure? Discuss the factors affecting (4) Lisinist 2y i ek .@/J'Jﬂ{/;a )
vapour pressure. St s £ by
7 - (a) Discuss manufacturing of NaOH from brine in (5) -2 ok 6 S NaOH < fie 2 Fu¥ (W) -7
Nelson's cell.
(b) Write down four properties of suspension. (4 -f‘..f.-'}'l.(f_-.:‘a?r“;fk S (D)
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